
SAP ABAP table TKEBL {Assignment: Ledger -> operating concern}

TKEBL

MANDT [CLNT (3)]

ERKRS [CHAR (4)]

PALEDGER [CHAR (2)]

WAERS [CUKY (5)]

PERIV [CHAR (2)]

PERIV2 [CHAR (2)]

T000

MANDT [CLNT (3)]
 TKEBL-MANDT = T000-MANDT 

0..N

1

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]

 TKEBL-PERIV = T009-PERIV 
0..N

1  TKEBL-PERIV2 = T009-PERIV 0..N

{0,1}
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 TKEBL-WAERS = TCURC-WAERS 

0..N
1

TKEB

MANDT [CLNT (3)]

ERKRS [CHAR (4)]

 TKEBL-ERKRS = TKEB-ERKRS 

0..N

1

TKEL

MANDT [CLNT (3)]

PALEDGER [CHAR (2)]

 TKEBL-PALEDGER = TKEL-PALEDGER 

0..N

1


